$* CLASS — 1™ Ancmad 2023
i o E (oa/5) MaTHEMATICS P}/
5= 25 S e

A I Lptnrse Lol i tildralft-2Le s DaADC syebaliva  aid
i itnd st aa i) f bl S ot f| A=A

DG K LA

- : ' SEN M et | () |

s 10 1@ 1

Lbs x Sest . JALBwgr | ()
> < © = W > W
S 2ald e pudifaalad | ()
111 @ 1@ 1 W e W

 Tesmcipmisagen e Swe * ol

The medane of § Tange e mack o T S o0

2 6
lﬁ ;Ii.-lMI ¢dcxin l]- !I" /i@ |
-9 (D) s (O - s W |
—i (m i (e -1 (W) 1 A

I
T wimen y - log] wpbe e Imy=log: fi|® |

y=a (O vay (C) f=x 2 (A)
s |

‘%E-l I — s i = | mn |

b @) aek (© Gew' ) (a-b) W .

Fatmel %1%y -1 e @l s’ -1my-1zy' | (0 |'
(Sa-ty) (xe3y) D)  (a-4y),(Sae3) (©)  (a-dy), Gu-3)(M)  (avdy), (3243y) (A) |

LCMafa s Y it ' ' PR— [ T SRR ) I
a-b (D) s -4 (0 =% (B) e b (A |

= = o scisnce of S ecmalmy *lttl; {_dr--:llhfgfﬁ -1<u< : al-Z z=___ | (10) |

@ 0 © 3@ -5 |

| Wimes e e et B equmncn 3 - 11 eBughSL y=2x s sdf | (11D |
(o, 1) (O Q.2 © G.nm G20

| Dt Setwees poca (0, Qe (1, e — & b e L (1,1) #00,0) 48 | (12) .:
v2 (D) : © Lm0 W

Tes o om meweci e . pots ..urﬁfd'.;m et i | (1) |

@ 2@ 3@ W |I

Macians of 4 Tangic ot SLn balad (14)
Coscuremt 3% (D) Imenest &F (O Hq-i-:'-:{mrnnumrwl |
The oyt bmecir of S anghe of s angie ez Sl .Hﬁﬂmfﬁwl (1%) |

Pependiader of (D)  Panlid 07 (C)  Nos coscurrem ‘f‘,f!ﬂll‘ Concurremt % (A)

|
|
25 (o) = 1 Azsmal 2023 SEQUENCE- 4 ([ PAPER CODE -3197) |
|




WoLass 17 Advena) 33y
WS 25 0. 2,

i) o e
Q. Na. 3 ““illlhm.uiﬂl

ﬁ .Tifrl {TJLIFTH} ﬂ" B
: 10 W b g Toh = |3 #’:.h-l:l-t.f"-l.'-l-'h{-uﬁ..”&- 140
baling TSI many B S S I
ra=|1 2 ' £ et
fu ||r verify e (A)'s A Wea slaed a | L ‘!i Jilw
Bvalasis (- ) ot | .
= 1) afobnd | W
Siamgslify Ji 'JI' . il
Cal lay! £ % e
culsia fog! x fugyl fgs = tagts oo
| Mapress in scientiNe notstin T umﬂrq!._:;',f ;
| e ol | i
I‘Jndlhr"lutul 11" mlies LB | y - L] Esd pm=")

2 3
. Blemplity '8 4 i)
Foartories "5 Jan s 43

¥==8 =i *ﬁ'ﬁrﬁ-ﬂl—!ﬂ- |‘-.l _I_J wik .

i |
(V5 4+ v3)’ 22 | il

X * lda o qn #'u,." -.
2t = 12 ! gl_f.;!-n.|m,.-'.r:_1:r¢r_..¢¢ﬁ,'. 140

Q. No. 3 Wrie $ia lhﬂmmmhﬂl.lhm-m.

Fisd HOJ of 102ny's . 83 x'ys and 107wy’

tmr,';.u_:-‘,-. L I aﬂ'r!-q-"ml i
Sol TR u el o |
P t—— 15T S|
Define linear equasiion iﬁ'—tﬂu'w--ﬁ.n.f'r i 1
Deww: he points on graph paper (- 4, 4) (=5, ﬁﬂ#—hﬁrflidl*,.#l. i ‘,
L] 3 i 2 : L l 1 ]
;, Find value af *¢* . ¢ g (F-12) if P76 F=1w A en :H‘ 33 H.{'F"-;-EJ "a®| v | 1
Finud the mid poimt between tw poists A3~ 11) B3, -4) AD =11 B0~ ) ﬁrﬁ-;ﬂp.m..} o
| Define right unyle tiangle i—-h"tr;ﬂ',ﬂ.ﬂr wi |
What s memnt by 1S = 115 7

Terlrfe ns » !l.l: whil

W e Lt/ L LLininr 5 S|
hnu.mnlluhun-_ugqhu l

ESeir P Lngetdibn 4 Ao

FHAE AR b ITD PTG | |

then find m 2 fi I

Eer L Jupidual niny a T

Ue eaterm angle formed vo producing aae vide of s parsllelogrem s 40° . Find |
Q. No. 4 Write Six short anawers 0 the Mh,ﬂn. lab= |3

£+ wiB ) aABabem S

| CD in right bincctor af the liss segment AR i the given figure. 1f m ATl =6 e,

Aa—Jlb .

L]

e S P L DS sem maemaem| 3 |
dem, Jeom , and !:l?__l_llumﬁaln:hnflh_lrﬂh. Give teason

[re— — 7Y
| S Jﬁp:ﬂ;ﬂ#-ﬂ-ﬂ,ﬂhﬂ ¢x15am wb=12cm, a=9em JBEFS | v
'Vnr_illylhl a=%cm , Iu-l:;n aad o= I.!_:E ﬂﬂ-urmqhmu i = \

Fiod the uaknown value in th given figuro Eer e o I| v |
I wwm
| i
|

| __aitl = =



Defiee altitinde of ¢ Tmngls

= g ltbawas | v |
the T |
I t'nul'thu’rrmﬂm é'r)"'.ﬂpﬁpﬂ fir | wil

/ \,\ | |
/llltn'.
l.h:ﬁ:u 1% e ; = ] |
: orthocentre _ g’._g_,-"ﬂ;u.ﬂ:_ viii |
ST SABC , in which M"ﬂ=3m.n:'i_l'_=-33m,mzvlnj' LR ABC a8 | |y

r"n..-ﬂ'
Bxl=24
e U9 dhrpf ozl cort Je £ o ud
I NOTE: Atiempt THREE HueRliing i all whereas Questios Mo ¥ s compulanry
' |
| !Iulv:hy'-l“ﬂ;lh:l:nmgr"m}n daey=9 ﬁ'i_rr_.“rﬂ"z_ﬂ m*ifl-’r'
=Ia-y=-3§
|I 1 wt ai= Wl I
sty () (55) (22 (=) () (2 &2 | @

II o r Ii

Use logari i 1 for314 22030 e i

II #€ oRanithm to find the value of ~ S ;E.;L‘E ‘)’E“Iﬁﬂj‘? :é'rﬂ"-*—fq-unff’drﬂ- (-6 Ad |

) | |

1

_ Jrl-:=2 .Ftl'llllh:\"ll'unuft‘fl% eIl 3t L ?;-3=1 Sil 'l

i e — a y = —_—

| |

" P A Pemns p)=x- 12 ¢ ddn—a8 .2 x-3 ol x-2 SELRLS | W10
i Without actual long division determine whether (x~2) and (x-3) e factoof PO =x"— 124 + 44x - 48 |

|

r W I 10 2 ! ‘l

| Zop B hnr =t ?T+ 13 - +.—' . ﬂ-:-’h s @ |
| 1z? i0x ¥ oyt |
II Find square root by using division method F+ F= +13 - %T + ‘_r- |

o s s — L |
| AR . S{z=3) 1 iy~ | |
| Simplify = A=]= - Ih“'!=1" ;: é'd’! h}-u’d!r'
[ mCA=52cm , mBC=3.1cm , mAB=45em F oA £ puait b ABC o8 | (n) \
Construct the triangle ABC and draw the biscctor of angles mAB =4.5cm ,mBC=3.1cm and mCA =52em |

fnﬂﬁ»wfﬁyﬂulsgu‘;du' L'Hﬂ :ﬁ..flf; ‘ -9}1.1' 4\
equidistant from its end poini

OR/ |

Juw«#.?ﬂmﬂxéuuund"#ﬂ eLizt” ‘
 Triangles on the same base and of the same (i.e equal) altitades are equal in arca !

' Any poini on the right bisector of a line scgment is

25 (Sub)- 1" Annual 2023

¥ e

LT . U S —




